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CLASS EXERCISE

Rahul covers a distance from his house
to coaching at the speed of 75 km/h and
returns to the speed of 50 km/h, What is
his average speed. T 379 T H &HITaT
ek ht At 75 TeRwi/eeT st Tria & a9 Eat
% 3 50 ferefi/erer Y nifer w SteaT &,
Iqh! ATE i B

(a) 60 km/h (b) 62.5 km/h

(c) 65 km/h (d) 67.5 km/h

(e¢) None of these










IMPORTANT POINTS

Note:- Suppose a man covers a certain distance at

‘a” km/ hr and an equal distance at ‘b’ km/hr.
Then,

Average speed
(during the

gle journey)



CLASS EXERCISE [ s
A person goes from A to B at speed of
20 km/h while coming back at the speed
of 40 km/h if he will again go from A to
B at speed of 60 km/h then find the

average speed of the entire journey? Ush

=t 20 frvfiaer it ifd & A & B 3% T D
SATAT &, Fateh 40 feRwi/der it nfa & 7 o Tehr¥
FATIE ATAT § af 7% T A & B T 60 M’ 3
faeft ezt Y Tifer & T & A O A _&__
ST T 7T it 2 to |k |
32|
\\



CLASS EXERCISE

A Person walks around a square plot and covers
the distance of each side at the speed of S0 km/h,
60 km/h, 30 km/h and 20 km/h respectively.
What is the average speed of walking? Ush =ik
Uk TR @S o TR AR TeTaT § AR Tedh
9T <ht AT 50 Hievfime, 60 Hevfe, 30
wey/fame 3 20 wey/fime i nfa & aa wEr 2

T Shi TEA T &1 22
(a) 30 km/h (b) 33 % km/h
(¢) 32 km/h (d) 35 km/h

(e) None of these



CLASS EXERCISE
A person goes 39 km from point A to
B at speed of 20 km/h while 65 km

from B to C at speed of 40 km/h then

A€

find the average speed of the entire

: . go?—"\\w

journey?qiﬁalﬁb‘fﬁgAﬁBW”

fardt 20 ferefi/der &t e & STaT @

Frateh 65 fardt B & C @k 40 fenreit/eeT

ht nifer & AT €, qﬁmaﬁ;ﬁm 109 XKY©
O, T\

e © RS S 7 R+65

¥






CLASS EXERCISE

A person goes A to B a distance of
40km at a speed of 10km/h and B to C
a distance of 8km at a speed 1Skm/h

n
then find average speed of entire w — )‘2/\“‘\ \

journey? Ush sa1+h A & B @<k 40 fehr

1 78t 10 Reeferer i nfa & 3 B2 ,30( cH)

C @ 8 fermt <t =1t 15 feRdi/eeT —
nﬁﬁmm%.a‘mﬁzrmaﬁaﬁm_/ M e ﬁ
e e e é‘wt |



pred slM "'



8:00 AM {bhr a to

breakdown 1n his cycle, and he spe

A cyclist starts a «

realizing that repair will take much longer tigne, he starts @ o reach his
—
destination. if he cycles at 10 km p hgur apd walks at 4 km an hour, at what ffme will

he reach his destij#ition? U& Grgfhadfias 11.5 frard
as\n{rga%m%lgagmsaérmmﬁ
IT3TeT | 30 o= faame, ©
Y Tiqed de Tga & oIl =@
eTdT & 31 4 fort wfa =2 it ife & gorar 2, a1 97 319 e ae e ot ugamm

o—h

o 78 HeqH #id gU fh T

CLASS EXERCISE

m ometers away. at 8:45 am there 1s a

” . - . .
' b in trying to get it repaired, but

Te IeL & foTT gae »:
A %,éﬁiwﬁzﬁaﬁam?ﬁ
W 4 Sgd TS G A, 98

-

A)10 Am  b)11:30 Am

AT 3 & qal ol Afe Fg 10 ot wfa =2 i wfa @ ansfea

¢)10:20 Am  d) 10:15 Am
e ——————
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CLASS EXERCISE

If Radha starts from poin@at 30 kmph while shayam start from point B at a

L

speed of x km/h towards each other if on meeting they
part of the journey to reach Eand Ainl 10urs respectively then find the
e

value o he distance between A and B also find the time of meeting to meet on

their way? afg T faig A & 30 feheft wfer sz & yr& et & wafen vamw fafg B x
ferefi/ereT <t it & Ueh g6t St ST I 96 St &, atg e o 3 arEn & oo
31 9T ! SHAYT: 16 HR 9 G § B 3R A T Uga o (010 Hal Hal, al x & HH
AT HITAT, A R B & st shi 34 ot , 37 TF ﬁﬁﬁﬁ%%ﬁfﬁﬂj’mmm
At 82 A

ill cover their remajxing

and







CLASS EXERCISE

Two trains A and B starts from station P to Q and Q to P at the same time after
passing each other it take 4 hr 48 min and 3 hr 20 min to reach their destination. If
speed of train A is 45 km/h. Find speed of train B. ar ?‘:T AIRBEIAPH Q I Q q
P e U &1 AW | Ush 3EL € T & 18 AU Tded aeh o 7 4 °e 48 e 3R 3
we 20 oz =1 awa @t #1 afE 3 A & ofa 45 Reddizdzr 31 29 B & fe s SR

(a) 54 km/h  (b)60 km/h  (c¢) 50 km/h (d) 36 km/h (e) None of these



